
 

Experimental Section 

Kinetic Models 

 

Table S1. Kinetic model [42]. 

 

 

Table S2. Linear forms of adsorption isotherm models [42,43]. 

 

Isotherm  Linear form  Plot  Slope and intercept  

1st order model 
log(qୣ −  q୲) = log 𝑞௘ +
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Log(qe-qt) vs t Slope = Kads/2.303 

Intercept = log qe 
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Isotherm  Linear Form  Plot  Slope and Intercept  
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Ce/qe  versus Ce Slope= 1/ Qo  

Intercept =1/ Qo b   

Freundlich 
𝑙𝑜𝑔 𝑞௘ = 𝑙𝑜𝑔 𝐾௙ +
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log qe versus log 
Ce 

Slope=  1/n 
Intercept = logKf 

Temkin 𝑞௘ = 𝐵𝑙𝑛𝐾௧ + 𝐵𝑙𝑛𝐶௘ qe versus lnCe Slope= B   
Intercept = B ln KT 


